3) 21+5x 24
6.) Round 273 to the nearest 10

Perloek

10.) 2,515; 2,525; 2,535;

13.) 9,760 yards = feet
15.)5.168 x 1,000

17.) GCF of 22 and 77
18.) 23,400 seconds =
20.) 4+ 132

22.) LCM of 13 and 26
23.) 7,000 + 200 + 60 + 8
25.) Find the mean: 257, 306, 490
27.) Of 3,080 or 3,090: which one is
closer to 3,086

30.) GCF of 12 and 24
31.)9,16,25, _ ,49

32.) (45, 47) is not prime

34)3%

36.) Number of days in a leap year
38.) 3,744,206 — 6 x 300

minutes

40) 5°
42.) 14,28, , 112
43.) Legal voting age

44.) (15, 13) is prime

45.) 6606606 660

46.) Find the mean: 1, 5, 800, 6

48.) Round 6,321,456 to the nearest 10
51.) 43 decades = years

52) (9-5)°

54.) 677,477,277,

55.) (23, 21) is not prime

56.) 2 feet — 7 inches = inches
57) (6 +T7)x 654

59.) Of 257 and 258; which one is closer
to 257.81

61.) 3,000 + 300+ 6

63.) 1/3 of an hour = minutes
64.) 150.2x 5
66.) 8 hours, 11 minutes = minutes

67.) (81, 73) is prime

69.) 4,032; 6;4,034;6;___ ;6
71.) 60,000 + 2,000 + 60 + 6
74.) 153 x 4%

76.) .04 x 10,000

77)9°

1.) 42.1x10

2)) LCMof 3 and 8
4) 210x4+2

5.) (18, 19) is prime
6) B+1x7

7.) Round 700.53 to the nearest 1
8.) Number for Blackjack

9.) 471.6+.6

11.) 1,013 — 496

12.)2,681; 2,681; ; 16,086; 64,344
14.) Find the mean: 19, 583, 11, 14, 698
15.) 5,000 +300+8

16.) 6.2 x 10

19.) (97, 98) is not prime

21)10+7x9

24)(8-2)x(27+9)

25.)36,422.72 x 100

26.) 1,000,000 + 440, 000 + 428

28.) Emergency phone number

- 29.)41,327; 42,427, . 44,627; 45,727

31.) Largest prime number less than 40
33.) Number of states in the U.S.

35.) Round 34,854 to the nearest 1,000
37.) 6.6 x 100

38.) 16> + 130

39.) Find the mean: 607, 610, 613
41)2x100)+(6x10)+(Bx1)

47.) 265, 275, 295, 325, _

49.) 874,137 — 874,100

50.) Number of seconds in a minute + 1
51.) Round 467.42 to the nearest 10
53.) .0040760 x 1,000,000

56.) 1,312 x (18— 17)

57.) Round 792 to the nearest 100

58.) (8 —3)?

60.)_ 51,620;4,860; 14, 580

61.) (31, 39) is not prime

-62)74+6x1o2

63.) 4,100 x .06

65.) Round 159.53 to the nearest 1
66.) 184.8x 2.5

68.) Find the mean: 126, 0, 999, 423

- 70)LCMof 15 and 6

72.) 2 decades = years
73.) .067 x 1,000
75.) LCM of 6 and 7




. It's hotter than Teenage Mutant Ninja Turtles.

It's more challenging than Super Mario Brothers.
_ [t's MegaMath—the first computer game +ou
, jon't need a computer to play. Why? We've
. alreadv provided the computer screen: All vou
need to do is provide the answers. :

To complete the MegaMath grid. vou'll have 0"
solve lots of problems using the skills WATH has
covered so far this vear. (Okay. so It's not as not
as Ninja Turtles. We iike ity If a problem has w0
answer choices, cirele the correct one and write it
in the grid. We started things off. '

Dzz1e by Josn Rapps
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